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(1) Wwe tested the engines of three cars,
two taxis, six trains, and four buses.

(2) Several points of view have been put Several point of views have been put

forward in the literature. forward in the literature.

(3) We also analysed three other papers We also analysed three others papers on
on this topic. this topic.

(4) Carproduction is rising, but car sales Cars production is rising, but cars sales
are falling. are falling.

= The production of cars is rising but the
sales of cars are falling.
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| have a 24-year -old student helping
me in the lab.

= The student is 24 years old.

This work is part of a three-phase
study into psychotic behavior
amongst TEFL teachers.

This would require a multi- megabyte
memory.

The increase was 3-fold.
= There was a 3-fold increase.

| have a 24-years -old student helping
me in the lab.

This work is part of a three-phases study
into psychotic behavior amongst TEFL
teachers.

This would require multi megabytes
memory

The increase was 3 folds.
There was a 3-folds increase.
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&ue SHos
The patients consisted of three
children, four adult men, and six
adult women, all with persistent
problems with their teeth.

This paper compares the relative
brain powers of fish and sheep.

All subjects were provided with PCs,
monitors, headphones and mouses.

This data is / These data are
inconsistent.

This was true of the first analysis, but
not of the other analyses.

his OYos
The patients consisted of three childs,
four adult mans, and six adult
womans, all with persistent problems
with their tooths.

This paper compares the relative brain
powers of fishes and sheeps.

All subjects were provided with PCs,
monitors, headphones and mice.

This was true of the first analysis, but
not of the other analysises.
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(2)
(2)
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(theses 4 two analyses) Lgus oo

Gl zaz 5 3,00 (slaalS speCcies aols’ 5
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Economics is one of the most
popular subjects amongst students in
our university.

Statistics is a distinct mathematical
science, rather than a branch.

In this case the physics are Eulerian
invariant.

Competition is  different in
knowledgebased industries, because
the economics are different.

This means of transport
fastest.

This news is not good.

is the

In my thesis | conducted an analysis
of ...

Genome transplantation in bacteria:
changing one species to another.

oo OMoa (519 (659> S

It is not clear where these statistics
come from.

If the physics is the same in central
and peripheral collisions, then Eq. 1
yields ...

Climate change is a subject of vital
importance but one in which the
economics is fairly young.

Prison is another means of
controlling young offenders.

In their theses they conducted several
analyses of ...

These species are subdivided into
serotypes.
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army (navy, air force), audience, board, cabinet (council government, senate
etc.), class (as in group of students), committee, company (firm, corporation
etc.), crew, department, team, staff, public, minority, media, majority, jury,
family, faculty
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The class is made up of 15 students.

is / are
decisions

The board of examiners
authorized to make
regarding. ..

Under pressure, many people admit
that they believe in ghosts.

Title: Prevention of heart disease in
older persons

Title: A hypnotherapy treatment for
persons prone to criminal activities
Title: Job satisfaction — How do
people feel about their jobs?

The police are often perceived as
being racist.

.(intervene

hle SYles

The class are made up of 15
students.

The board of examiners are a
statutory body established by the
department..

Under pressure, much people
admits that they believe in ghosts.

Title: Job satisfaction — How do
persons feel about their jobs?

The police is often perceived as
being racist.
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(1) Around 40% of the funds have
been deposited.

(1) The majority of those interviewed
were African Americans .

(1) Only a quarter of these men are
still alive.

(2) A number of papers have
highlighted this major difference.

(2) The number of papers being

published on this topic has
increased.

(3) A set of three parameters is
obtained.

(3) A series of four experiments was
performed.

(4) This happens when there is more
than one possible answer.

hle SHlos
Around 40% of the funds has been
deposited.

The majority of those interviewed was
African Americans.

Only a quarter of all these men is still
alive.

A number of papers has highlighted
this major difference.

The number of papers being published
on this topic have increased.

A set of three parameters are obtained.

A series of four experiments were
performed.

This happens when there are more
than one possible answer.
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30 books, many manuscripts, 100 apples, several PCs.
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A book is still an excellent source of
information.
The book that | am reading is about

This acts as an alternative
When | was a student.

You cannot leave the country
without a passport.

Funds are essential for research

Throughout  the  world,  full
professors tend to earn more than
researchers.

Access requires a PIN (personal
identification number).

The number of purchases of CDs is
only 1% of what is was 25 years ago.

We used a 5-kR resistor placed in
series.

All non dummy variables are in log
form.

We used X as input , and Y as
output.

hle OHYos
Book is still an excellent source of
information.
Book that I am reading is about ...

This acts as alternative
When | was student.

You cannot leave country without
passport.

The funds are essential for research.

Throughout the world, the full
professors tend to earn more than the
researchers.

Access  requires  PIN
identification number).

The number of purchases of CD is
only 1% of what is was 25 years ago.

We used a 5-kR resistor placed in a
series.

All non dummy variables are in a log
form.

We used X as an input, and Y as an
output.
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alanu
It is stored in a compact form

As these parameters are fixed, a
grammar is determined, what we
call a “core grammar”

These were obtained by using 3-
chloro-1-propanol as the
internal standard.

An analysis of the data showed
that ...

... with a probability of 0.25

The software is used under a
license from IBM.

This analysis indicated that the
number of strata could be
reduced considerably without a
loss in the precision of the values
found.

The guinea-pigs were housed
singly or in pairs at a room
temperature of 20-22 °C.

This was followed by etching in
an aqueous solution of
phosphoric acid and chromic
acid.

Their new perfume depicts a
strawberry on the label.

They rented a car to travel
through India.

.A.A.A.Mﬁ.’

alan ;yow
It is stored in compact form

We call this kind of abstraction
“aggregation.”

These fats were used as internal

standard.
Analysis of the data showed that ...

... with probability 0.25.

The software is used under license
from IBM.

This analysis indicated that the number
of strata could be reduced considerably
without loss of precision and without
loss of generality.

The samples were stored at room
temperature.

We examined the reaction between
methylchloride and chloride ion in the
gas phase and in aqueous solution
using techniques based on ...

Their new perfume smells of
strawberry.

They traveled through India by car.
They drove by night. They discovered
that it often rains in India in [the]
summer.
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access, accommodation, advertising, advice*, agriculture (and other subjects of
study), capital, cancer (and other diseases and illnesses), consent, electricity (and
other intangibles), English (and other languages), equipment*, evidence*,
expertise, feedback, functionality, furniture*, gold* (and other metals), hardware,
health, industry, inflation, information*, intelligence, luck, knowhow, luggage*,
machinery*, money, news, oxygen (and other gases), personnel, poverty, progress,
research, safety, security, software, staff, storage, traffic, training, transport, waste,
wealth, welfare, wildlife.
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a piece of advice, two pieces of equipment, one piece of information
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This information is confidential.

Feedback from users on usage of the
software has shown that ...

The news is good — our manuscript has
been accepted.

We need several new pieces new
equipment and [some] new software.

Our institute only has a little money
available for funding.

We have not done much research in
this area.

Written consent was obtained from all
patients.

She has expertise in this field.

hle OYlos
These informations are
confidential.

Feedbacks from users on usage of
the software have shown that ...

The news are good — our manuscript
has been accepted.

We need several new equipments
and a new software.

Our institute only has few money
available for funding.

We have not done many researches
in this area.

A written consent was obtained
from all patients.

She has an expertise in this field.
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Q) She is an expert in many areas. She has expertises in many areas.
1) The features of this application are The  functionalities of this
outstanding. application are outstanding.

The functionality of this application
IS outstanding.

€09 g0 Al go 9 Cowl Lijleds BB a8 pul S (5,5 Lld sl functionality ax 31 :as g3
Sl o pdy BB 55 functionalities o) o] gex SIS0 059 el Lol

(2) They have a new advertisement on They have a new advertising on

TV. TV.

(1) I have done several jobs both in | have done several works both in
industry and research. industry and research.

1) They work in research and also for a They work in research and also for
manufacturing company. an industry.

(1/2) We need a program / an app. We need a software.

We need a software application.

(2) We have a training course We have a training tomorrow.
tomorrow.
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(1) Paper and coffee are becoming She has a coffee (i.e. a cup of coffee)
expensive commodities. and reads a paper (i.e. a newspaper)
every day.

She has just finished another paper
(i.e. a manuscript)
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The role of traditional medicine is
being undermined by alternative
medicine.

The explosion caused considerable
damage to the machine.

Dealing with waste is a major
problem in the West.

This work (i.e. this research,
manuscript) is worth publishing.

This data is fascinating.

Teenagers often exhibit behavior
that is annoying for adults.

Several devices were tested and
their performance was evaluated.

This does not imply prior
knowledge of ...

The occurrence and fate of medicines
in the environment — i.e. how they are
absorbed into the water and soil
systems — has rarely been investigated.

The company has been awarded
damages (i.e. compensation) as a result
of the laws it.

The conference was a waste of time.

The field of the cultural heritage
investigates ways of preserving works
of art.

These data are fascinating.

Some autistic  children
behaviors that are potentially ...

Several devices were tested and their
performances were evaluated.

She has a good knowledge of English.

exhibit
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oo OMos
Simpson’s paper is an excellent
introduction to the topic.

We have answered the referee’s
questions.

ol 04 o)Ll jols S &y ladd alos ol )> tdagd
| have just received the editor’s

decision along with the
committee’s report.

Jones’s seminal paper.
Smith and Simpson’s paper.
Smith et al’s paper.

Smith’s paper and Li’s paper
take two very different positions.

It is each applicant’s responsibility
to ensure that the three Referees’
Reports are submitted by ...

We have answered the three
referees’ questions, and speci
fically, we have added a new
section as per Referee 1’s request.

A8 odlaiol yoly

hle Olos
The Simpson’s / Simpson paper is an
excellent introduction to the topic.

We have answered the referee
questions.

have just received the editor decision
along with the committee report.

Jones’ seminal paper.
Smith’s and Simpson’s paper.
Smith’s et al paper.

Smith and Li’s paper take two very
different positions.

It is each applicants’ responsibility to
ensure that the three Referee’s Reports
are submitted by ...

We have answered the three referees’
questions, and specifically, we have
added a new section as per Referee’s 1
request.
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Cusdb wilis b
Adrian Wallwork’s manual on
writing.
—he— el el el innnel o
=
As predicted by Newton’s theory of
gravity, Mercury’s orbit is

elliptical.

The premise of Darwin’s theory of
evolution is that ...

Fourier’s  analysis of linear
inequality systems highlights that he
placed more importance on ...

Turing’s machine was designed to
be an idealized model of a human
computer.

George Boole’s father was a
tradesman who gave his son his first
lessons in logic and mathematics.

Dy e palb

CuSd - b Gl Q9N

The Newton Theory of Gravity
states that ...

This work was inspired by the
Darwin Theory of Evolution.

We used Fourier analysis to
evaluate the ...

We may think of a Turing machine
asa...

Boolean algebra is a
calculus of ...

logical
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(5) One-way ANOVA with Tukey’s post
hoc test for individual treatment
differences was used for statistical
analysis.

(6) Beer - Lambert’s law has often been
used to model canopy transmittance.

(7)

A Tukey post hoc test was used to
compare the four groups.

The Beer - Lambert law has often
been wused to model canopy
transmittance.

In this paper the Kolmogorov-
Smirnov statistical test for the
analysis of histograms is presented.

sl 31,81 g (gl (SCS ol Y-Y

g oo 03wl Y=Y Cuomd ;3 ¥ o ¥ delod 5l cwlbuw 318l 9 (o)l slaeS i (gl y

CaSdlo i

(2,3) Nike’s decision to raise the prices of
their shoes is in direct contrast to
Camper’s decision to lower their
prices.

L‘)lﬂ..\_‘o )l U-Qﬁ)f Yl.: d.l.o.} 9o gi.:‘..; )l )9.‘é.2..o
] LLS).\B L)"]

(2,3) Obama’s administration was initially
much more popular than Bush’s or
Clinton’s.

) 9—&o> dl“’ﬁ) )il.m lg Lolgsl &19.) cA.Lo.? UJ‘ o

] 0305 Ay lde saie YL

Sl gl g

The survey found that typical
consumers had, over the 12-month
period, bought at least two Nike
products and one Apple i -phone or i
-pad.
Ol_‘m Yl_ﬁ A_Lo.? Prl J_:1 9 gi_zl.: )l )9_|é..2..o
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The Obama tried to block
Alabama’s  new  administration
immigration laws.
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The Chancellor of the University of
Cambridge is meeting the Rector of
the University of Coimbra.

The University of Bologna is the
oldest university in the world.

| studied at Bologna University / the
University of Bologna.

(V) ke (¥ 9 Y)Jgome s oMo

The University of Cambridge’s
chancellor IS meeting  the
University of Coimbra’s Rector.

Bologna University is the oldest
university in the world.

| studied at Bologna’s University.
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The temporal lobes of the monkey’s
brain.

We used ewe’s milk rather than
cow’s milk.

Lamb’s wool is ideal for this kind of
outdoor clothing.

Collagen can be obtained from calf
skin or rat skin.

In some parts of the world they eat
monkey brain.

S SVl

bl Silos
The temporal lobes of the monkey
brain.

We used ewe milk rather than cow
milk.

Lamb wool is ideal for this kind of
outdoor clothing.

Collagen can be obtained from calf’s
skin or rat’s skin.

In some parts of the world they eat
monkey’s brain.
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The role of the brain is crucial. The brain’s role is crucial.
The tasks of the network is to converge  The network’s task is to converge to a
to a particular output. particular output.
An understanding of the effects of An understanding of malaria’s effects

malaria on the region’s inhabitants is on the region’s inhabitants is vital.
vital.

The radius of the circle. The circle’s radius.

The approximate time of the arrival of The approximate time of the plane’s
the plane was calculated. arrival was calculated.

The occupants of the flat were all The flat’s occupants were all arrested.
arrested.
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(1) I’'m taking three weeks’ vacation next  I’m taking three weeks vacation next
month (= three weeks of vacation) month.
(2) He’s on a 3-week vacation.. He’s on a three weeks’ vacation.

He’s on a three-week vacation. He’s on a three weeks vacation.
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a an
(1,6) a Sony laptop, a VVodafone application an Apple laptop, an Orange
telephone
(2,7) auniversal law an undisputed argument
3 a European project an EU project

4 a one-off payment, a one-day trial
(5,8) a hierarchy, a Hewlett Packard computer an hour, an HP computer

LS g dae ojlg e L an 9a :)g)ls Y-y
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Sygmo 4 g Ty g ol Ve (o)bl o Jlie (gl 20,8 ool V=Y s Ll (6
(¥=V-Y) cisg a one hundred kilowatt battery L, a 100 kilowatt battery
cubgs an eight kilowatt battery < ysw 4 lgs oo 1y Slg olSTA (bl &S pimads
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a an

(1,2) aUSsoldier, a VIP lounge, a YMCA  an IBM machine, an MTV program,
hostel an SOS signal

3) a USB, a NATO officer an url, an NLP course

4) a1 GB disc, a 10 GB disc, a 12 GB an 8 GB disc, an 11 GB disc, an 18
disc GB disc

5) a # (a hash) an X (an epsilon)
a % (a percentage) an * (an asterisk)

‘'symbols
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one

We need one manual,
manuals.

Unfortunately, there is only one
solution in such cases — surgical
intervention.

not two

If you make even one mistake with
Prof Syko, she will fail you.

We conducted one experiment in
which students had to memorize 100
words in English, and another in
which they had to remember 200
words.

We went from one town to another .

One way to do this is to ...

We could have the meeting one day
next month.

al/an

We need a manual, not just any type of
document.

In this paper we present an innovative
solution to the three-bus problem.

This parameter has a unique value.

If you make a mistake with Prof
Normo, it’s not a problem — he’s really
relaxed.

We conducted an experiment in which
students had to memorize 100 words in
English. This was the only experiment
we conducted and it proved that ...

The conference is in a town near

Istanbul.
A novel way to do this is ...

A good day to meet would be next
Tuesday.
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The only thing you can take into the
examination  tomorrow is a
dictionary.

This paper presents a new system for
modeling 4D maps.

I don’t have a computer at home.

ABSTRACT In this work, we make
an attempt to test the efficiency of

the

The only thing you can take into
the examination is a dictionary.
The dictionary you choose can
either be mono- or bi-lingual.

This paper presents a new system
for modeling 4D maps. The
system is based on ...

| have a computer at home and at
work. The computer that | have
in my office is a Mac and the one
at home is an HP.

RESULTS In this work, the
attempt to assess the relative
efficiency of the tested methods
was carried out on two levels.

3 A comparison of our data with those The comparison given in Sect.
in the literature indicates that ... 2.1 highlights that ...

3 We are now in a position to apply The diagram indicates the
Theorem 13. position of each piece of

equipment.

(€)) Contrary to what is currently We need to satisfy the growing
thought, there is a growing demand demand for experts in this field,
for experts in this field. which looks set to increase even

further.

3 This is a first step towards This is the first step towards

combatting terrorism in that area. We
cannot be sure of the outcome ...

combatting terrorism in that area.
The second step is to ...
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(1,2) A camel (= any camel) can go for days
or even months without water because,
unlike other animals, camels retain
urea and do not start sweating until
their body temperatures.

The panda (= all the pandas in
the world) is in danger of
becoming extinct.



